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0.
¥ouT d1e™~ 24 b XN
CPU CPUCLK d =2 Z2ph sol
vD+ o3 2 ph TSTO
DGND o 4 21p TSTO
SCLK O+& 20p INT
SDO o& 19 h RESET
Cs dr7 18h TSTO
TSTO Q&8 17Th TSTO
AlNZ+ O & 16 P AINT+
AlNZ- o 10 158 AINI-
VREFOUT d 11 14 b vA+
VREFIN o 12 11 b AGND
1 XOUT XIN—
24 CMOS
XIN
CPU 2 CPUCLK— CMOS
5 SCLK— SDI  SDO CS
SCLK
6 SDO—SDO CS
7 CS — SCLK SDO
CS SCLK
19 RESET —
20 INT — INT
23 SDI—SDI SCLK
9,10,15,16 AIN1+, AIN1-, AIN2+, AIN2- —
11 VREFOUT—
2.5V VA-
12 VREF IN—
3 VD+ —  DGND +5V+ 10%
4 DGND— VA-
13 VA- —
14 VA+ —  VA- +5V+ 10%
8,17,18,21,22 TSTO —
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1.
. 25°C
. DGND = 0V. ov
CMRR 80 - - dB
- 5 - nVv/°C
AIN1+
(Gain = 10) ANLL 0 - 500 mVp-p
{(AIN1+) - (AINi- )} (Gain = 50) 0 - 100 mVp-p
THD: 74 - - dB
+ Gain =10/50 -0.25 - VA+ \/
AIN2 50,60Hz - - -115 dB
=10 - 25 - pF
=50 IC1 - 25 - DF
=10 Ell 30 - - kQ
2 =50 ! 30 - - kQ
( =10 N - - 22.5 | Vrms
( =50) ! - - 4.5 M Vrms
1 VOS - - +0.001 %F.S.
1 FSE - - +0.001 %F.S.
AIN2+
{(AIN1+) - (AIN1-)} AIN2 0 - 500 mvVp-p
THD2 65 - - dB
+ -0.25 - VA+ \Y
AINL 50,60Hz - - -70 dB
=10 IC2 - 0.2 - pF
2 =10 Ell2 5 - - MQ
( =10) N2 - - 250 M Vrms
1 VOS - - +0.01 %F.S.
1 FSE - - +0.01 %F.S.
1.
2. Ell DCLK IC Ell=1/ IC*DCLK/4

DCLK=MCLK/K
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OWR - DCLK/1024 - Hz
DCLK=MCLK/K _ DCLK/8 _ Hz
DC ( 3) FSCR 25 - 100 %F.S.
-3dB - 0.5 - Hz
( ) IA+ PSCA i 1.3 ] mA
ID+ VD+=5V PSCD - 2.9 - mA
ID+ VD+=3V PSCD - 1.7 - mA
4 VD+=5V - 21 30 mw
VD+=3V PC - 11.6 - mw
- 6.75 - mwW
- 10 - uw
4 50 60 Hz =10 PSRR 56 - - dB
=50 PSRR 70 - - dB
4 50 60Hz =50 PSRR 45 - - dB
3 FSCR
4 CMOS
5 PSRR VREFIN VREFOUT VA+=VD+=5V 150mV 60 Hz
DC5V+ CS5550
Veq
: . | 150
PyBEE 2 - gy —
L= I'.'L- .
ey
REFOUT 2.4 - 2.6 Vv
( 6) TC - 25 60 ppm/
1py A A VR - 6 10 mV
VREFIN 2.4 2.5 2.6 Vv
- 4 - pF
CVF - 25 - nA
6 VREFOUT VREFOUT
; (VREFOUTwax - VREFOU T “) ( 'f ) ( )
= - — - [} ]
TC s ( TREFOUT 1 T dar- T | AL
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5V
XIN SCLK RESET VIH 0.6 VD+ - - V
XIN VD+-0.5 - - V
SCLK RESET 0.8VD+ _ _ V
XIN, SCLK RESET VIL - - 0.8 v
XIN - - 1.5 v
SCLK RESET - - 0.2VD+ v
lout=+5mA VOH VD+)-1.0 - - V
lout= -5mA VOL - - 0.4 V
lin - +1 + 10 uA
loz - - + 10 UA
Cout - 5 - pF
3V
XIN SCLK RESET VIH 0.6 VD+ - - V
XIN VD+-0.5 - - V
SCLK RESET 0.8VD+ _ _ v
XIN, SCLK RESET VIL - - 0.48 v
XIN - - 0.3 V
SCLK RESET - - 0.2VD+ v
lout=+5mA VOH VD+)-1.0 - - \Y
lout= -5mA VOL - - 0.4 \/
lin - +1 + 10 uA
loz - - + 10 UA
Cout - 5 - pF
VD+ 3.135 3.3 5.25 V
VA+ 4.75 5 5.25 \Y
AGND -0.25 0 0.25 \Y
VREF - 2.5 - \Y
TA -40 - +85
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7 MCLK 2.5 4.096 5 MHz
40 - 60 %
CPUCLK 8 40 - 60 %
SCLK 9 trise - - 1.0 us
SCLK - - 100 us
- 50 - nS
SCLK 9 fall - - 1.0 us
SCLK - - 100 us
- 50 - nS
XTAL=4.096MHz 10 tost - 60 - ms
SCLK - - 2 MHz
t1 200 - - ns
2 200 - - ns
SDI
CS t3 50 - - ns
SCLK t4 50 - - ns
SCLK t5 100 - - ns
SCLK CS t6 100 - - ns
SDO
CS SDI t7 - 20 50 ns
SCLK t8 - 20 50 ns
CS SDO t9 - 20 50 ns
7. 4.096MHz
8. MCLK 45% 55%
9. 10% 90% 50pF
10.
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1.1 DRDY INT
DRDY
PGAS A -3 CRDY
(MCLK/K) /8
1
1.1.1 DRDY CRDY
A -3 RMS
10
Sinc
MCLK/K / 1024*N XIN
1.1.2 4.096MHz AD
4000Hz  RMS 1Hz
1IR
AINL AIN2 1.3 CS5550
RMS1 RMS2
1.1.3 (% of FS) | 0.2% - 100% | 1% - 100%
0.1% 0.1%
1. ( )
1. ,
2.4 RMS 0.1% CS5550
0.1%
1.2 CS5550
CS5550 (MCLKI/K) / +0.1%
1024 . N
RNS1 2.
RMS2
2.1
-1 CS5550  AIN1
+1 GAIN=10/50  AIN2
0 +1 (GAIN=10)
1.0 1.0 AINL/AIN2
[(2723 - 1) /(2°23)] =
0.999999880791 AD
A/D CRDY AIN1 AIN2 500
CRDY mVpP-p, 250 mV
INT CRDY 250 mVRMS
AD 250 mVRMS
RMS1 RMS2 N
N
DRDY 500mVe-p/ (2* 1.414 )= ~176.78mVrms
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70.7% 2.4
2.4.1
2.2 CS5550 AC AC DC
CS5550  VREFIN VA- DC AINL  AIN2 AC
+2.5V  VREFIN  VREFOUT DC AC
2.5V 60ppm/ DC
/ AIN1  AIN2
2.3
XIN  XOUT 2.4.2
2 1 CS5550
DRDY
2 AINL AIN2
2.4.3 2.4.4
wree 3. 8 CS5550
:l] 1 AD
— A
4 CS5550
| DRDY
XIH -
— 2.4.3
BeEHD CiwCdni AC/DC
ﬁL 4 AINL
5 AIN2
CS5550 4
CS5550 AD
4
c1 C2
20MHz 2.4.4
XIN  XOUT XIN 3
QNOS DC AINL  AIN2
CS5550 2.5 20MHz AC AC
K
DCLK 2.5MHZ  5MHZ K 60%
K 3:0 AC
XIN=MCLK=15MHZ K 5 DCLK 3WHZ bC
2.5MHZ  5MHZ 4
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2454 DC DC
CS5550
1 N 6
DC
1 INT
Salirs OC Sain Calibisdiom i Ygsin Meginker & 1)
..... s )
o By d Bl r—
EIGHA
{ 251 INT
i o I LEal i)
[
| | 10— FFFFFF 16
N
duler [IC Gl m T alforaton [Ygain Regiis: changed 1e 1 11 Il—
iy " 1
WPUT e i - i Bimcin |3_
SIGHAL
[ ]
. HO—
g 3 Hl—
6 H2—
H3— HO
246 H4—
N H5—
DC /
N+30 HO  —H3
AC 6N+30 H3
A/D 6 N
252 INT
241 INT IMODE
. bC lINV
DC
2 AIN1 AIN2 AC DC INT INT
3 AINL AIN2  AC DCLK=MCLK/K
26 PCB
2.5 CS5550 PCB
INT VA- GDND

INT
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3.
CS5550 / SCLK 8
24 SCLK
ADC 24
CS5550
8
3.1
1 CS5550
3
SDI SDI
3.1.1
B7 B6 B5 B4 B3 B2 Bl BO
1 1 1 0 C 0 0 0
CS5550
C
O —
1
3.1.2 SYNCO
B7 B6 B5 B4 B3 B2 Bl BO
1 1 1 1 1 1 1 0
3 SYNC1
SYNCO
3.1.3 SYNC1

| B7| B6 | B5 | B4 | B3 | B2 | BL | BO |
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1 1 1 1 1 1 1 1
3.1.4 /
B7 B6 B5 B4 B3 B2 B1 BO
1 0 1 0 0 0 0 0
3.1.5
B7 B6 B5 B4 B3 B2 Bl BO
1 0 0 S1 SO 0 0 0
CS5550
S1 SO
00=
01=
10=
11=
3.1.6
B7 B6 B5 B4 B3 B2 Bl BO
1 1 0 A2 Al R G 0]
A2, Al
00=
01= AIN1
10= AIN2
11=AIN1 AIN2
R
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0=
1 =
G
0=
1=
(0]
0=
1=
3.1.7 /
B7 B6 B5 B4 B3 B2 B1 BO
0 W/R | RA4 | RA3 | RA2 | RA1 | RAO 0
SCLK SCLK 24 SCLK
W/ R
0=
1=
RA[4 O] 5 1
RA[4-0]
0 00000 Config
1 00001 AlN1pcoff  AIN1
2 00010 AIN1gn AIN1
3 00011 AIN2pcoff  AIN2
4 00100 AIN1gn AIN2
5 00101 Cycle Count N
6 00110 Res t
7 00111 AIN1 AIN!
8 01000 AIN2 AIN2
9 01001 Res t
10 01010 Res t
11 01011 RMS1 AIN!
12 01100 RMS2 AIN2
13 01101 Res t
14 01110 Res t
15 01111 Status
16 10000 AIN1acoff AIN1
17 10001 AIN2acoff AIN2
18 10010. Res t
19 10011 T
20 10100 Res t
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21 10101 Res T
22 10110 Res t
23 10111 Res t
24 11000 Res T
25 11001 Res T
26 11010 Mask
27 11011 Res t
28 11100 Citrl
29 11101 Res T
30 11110 Res t
31 11111 Res t
"
3.2
CS5550 CS SDI sSDO SCLK CSs
CS 0 3 SDI SDO
CSs 1 SDO
SCLK A/D SCLK
CS 0 SCLK
SDO
5mA LED 5mA SDO
400mV
3.3 /
/ CS5550
/ 1 / SDI 8
3.3.1
24 SDI
0X40 CS5550 SDI 24
3.3.2
8 8 16 24
“ K 16
SDI 8
SDO 24 SLCK SDI
SDO 8 16
24
“ " SDO SYNCO
NOP SDI
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3.4
0x80 (CS5550
RESET 50ns RESET MCLKs
RESET
RESET 5 MCLK 12
MCLK MCLK
CS5550
CS5550 3.6
4
35
CS5550 CS5550 CS5550
1 cs ( Cs )
2 RESET 10us,
3 3 SYNC1 OxFF 1 SYNCO OxFE
3.6 CS5550
CS5550
1 CS5550
2
3
CS5550 /
/ CS5550
4
l ¢ * %
2 “0"
41
0
23 22 21 20 19 18 17 16
gain
15 14 13 12 11 10 9 8
IMODE 1INV
7 6 5 4 3 2 1 0
2HPF 1HPF Icpu K3 K2 K1 KO
0x000001
gain
0= 10
1= 50
[IMODE TINV] INT
00 =
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01 =
10 = INT
11 = INT
1HPF AINL
0=
1 =
2HPF AIN2
0=
1 =
iCPU CPUCLK
CPUCLK
0=
1= CPUCLK
K[3:0] 4 MCLK DCLK
DCLK=MCLK/K K 1~16  K[3:0]=0000  K=16
42DC
1 DCAINL
3 DCAIN2
M5B LER
e S I S = O O - I 0 A I I A G
0.000
DC 0
DRDY
+
43ACIDC
2 AN
4 AIN2
M5B LEB
U B R LN B L R N S LR il L P LA PSR LR
1.000
1.0 DC
AC DC
AC 6N+30
AID N DRDY
/
0.0< 4.0
4.4
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MsB ] LSE
DA ArAF AR AN AN EEI A AEINFAEAEA
4000
MCLK/K /
1024*N MCLK K N
45
7 AIN1
8 AIN2
MSB LSB
I_I:_.. 41 ] | o l el | e I a6 | % | 17 I o- | -l | =il | 221 l i .]
AIN1 AIN2 -1.0< AIN1 AIN2<1.0
MSB 22
4.6
11 AIN1
12 AIN2
MSE L5A
[ | R ]| ] H 28] [22| ] . g ot [0 [t [ | 22| 23 |
FILT: FILT2 0.0 <= FILT: FILT2< 1.0
4.7
15
26
23 22 21 20 19 18 17 16
DRDY CRDY OR1 OR2
15 14 13 12 11 10 9 8
ROR1 ROR2
7 6 5 4 3 2 1 0
0D2 0D1 IC
0x000000
0x000000
Cr o C o
INT T
INT
DRDY
AIN
4KHz

OR1 OR2 AIN
CRDY
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OD1 OD2
ROR1, ROR2
IC 1 3.1 0
48 AC
16 ACAINL
17 AC AIN2
MERB L5B
[ ' 2| 2|2 5[ 27| 2] e [ ]2® | 2|2 |22 22 | 22|
0x000000
AC
AC CS5550 6N+30 A/D N
DRDY
4.9
19
MEB LSE
[ 2 |22 [ a2t |5 [ 28 [ 27 | 28 [ o [ 2] aW | 2™ | [ 22 ] 22 | 28]
4.10
28
23 22 21 20 19 18 17 16
15 14 13 12 11 10 9 8
7 6 5 4 3 2 1 0
INTOD NOCPU NOOSC
0x000000
INTOD 1= INT
NOCPU 1= CPUCLK
NOOSC 1=
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24L SSOP

CS5550

E1?
L
A -- -- 0.084 -- -- 2.13
Al 0.002 0.006 0.010 0.05 0.13 0.25
A2 0.064 0.068 0.074 1.62 1.73 1.88
b 0.009 -- 0.015 0.22 -- 0.38 2,3
D 0.311 0.323 0.335 7.90 8.20 8.50 1
E 0.291 0.307 0.323 7.40 7.80 8.20
El 0.197 0.209 0.220 5.00 5.30 5.60 1
e 0.022 0.026 0.030 0.55 0.65 0.75
L 0.025 0.030 0.041 0.63 0.75 1.03
0° 4° 8° 0° 4° 8°
JEDEC# MO-150
mm
1« D" * E1
0.20mm
2. “ b DAMBAR / DAMBAR
“ b" 0.13mm DAMBAR
0.07mm
3. 0.1—0.25mm

22 of 22




